|APg=

8,9 ct/kWh

Monat Gasindex Monat Lohnindex Monat Maschinengiiter

Juli 96,3 Juli 109,9 Juli 105,2

August 96,4 August 109,9 August 105,2

September 96,5 September 109,9 September 105,3

Oktober 96,9 Oktober 110,2 Oktober 105,3

November 97,0 November 110,2 November 105,3

Dezember 97,2 Dezember 110,2 Dezember 105,4

Januar 97,4 Januar 110,5 Januar 106,0

Februar 97,5 Februar 110,5 Februar 106,1

Marz 97,6 Marz 110,5 Marz 106,1

April 97,6 April 111,2 April 106,2

Mai 97,6 Mai 111,2 Mai 106,2

Juni 97,5 Juni 111,2 Juni 106,3
97,1 110,5 105,7

AP, = 8,9 ct/kWh

EGy = 97,1

EG= 97,1

Ly = 110,5

L= 110,5

Mg = 105,7

M= 105,7

WM, = 96,8

WM= 96,8

Preisgleitklausel: |

AP =8,9*%(0,1+0,4 *97,1/97,1 +0,1 * 110,5/110,5 + 0,2 * 105,7/105,7 + 0,2 * 96,8/96,¢&

Monat Warmemarktindex
Juli 96,7
August 96,9
September 97,0
Oktober 97,0
November 96,9
Dezember 96,8
Januar 96,9
Februar 97,0
Marz 97,0
April 96,8
Mai 96,5
Juni 96,1
96,8




